
TEN PRODUKT WUNDERLICH MOŻESZ KUPIĆ W SKLEPIE BOXER-PARTS. 

BOXER-PARTS JEST AUTORYZOWANYM DYSTRYBUTOREM WUNDERLICH.

PRZEJDŹ DO SKLEPU : www.boxer-parts.eu

Instrukcja Wunderlich na kolejnej stronie 

THIS PRODUCT YOU CAN BUY IN BOXER-PARTS ONLINE SHOP.

BOXER-PARTS IS AUTHORIZED DEALER OF WUNDERLICH.

VISIT OUR SHOP : www.boxer-parts.com

 Wunderlich instruction on next page

http://www.boxer-parts.com/
http://www.boxer-parts.eu/


D i e  Fa r b e n  d e r  A b b i l d u n g e n  d i e n e n  n u r  d e r  V e r a n s c h a u l i c h u n g  / /  T h e  c o l o r s  a r e  f o r  i l l u s t r a t i n g  p u r p o s e s  o n l y 
C o p y r i g h t  b y  W u n d e r l i c h  G m b H  / /  w w w . w u n d e r l i c h . d e

Heckumbau // 27761-xxx
tail conversion // conversion de queue// conversione coda // la conversión de la cola 1

2
2 Linsenkopfschraube M6 x 30 1

Nr. Bezeichnung Menge
1 Linsenkopfschraube M5 x 18 

2
4

6
5

7

Hülse D=14,5 d=5,5 l=4 mm

Unterlegscheibe Plastik M6
Gummitülle Kabelführung

Kabelbinder

2

1
1

2

3 Unterlegscheibe Plastik M5

1

4

3

6

27

5

6Nm
6Nm

Rücklicht von der Innenseite bis zum Anschlag 
einschieben.
Insert the rear light from the inside to the stop.



D i e  Fa r b e n  d e r  A b b i l d u n g e n  d i e n e n  n u r  d e r  V e r a n s c h a u l i c h u n g  / /  T h e  c o l o r s  a r e  f o r  i l l u s t r a t i n g  p u r p o s e s  o n l y 
C o p y r i g h t  b y  W u n d e r l i c h  G m b H  / /  w w w . w u n d e r l i c h . d e

2
Stecker links / rechts markieren
mark plugs left/right

1

4

2 3

5



D i e  Fa r b e n  d e r  A b b i l d u n g e n  d i e n e n  n u r  d e r  V e r a n s c h a u l i c h u n g  / /  T h e  c o l o r s  a r e  f o r  i l l u s t r a t i n g  p u r p o s e s  o n l y 
C o p y r i g h t  b y  W u n d e r l i c h  G m b H  / /  w w w . w u n d e r l i c h . d e

3

Anliegende Teile mit Lackschutzfolie schützen!
Protect adjacent parts with paint protection film!

6

98

7



D i e  Fa r b e n  d e r  A b b i l d u n g e n  d i e n e n  n u r  d e r  V e r a n s c h a u l i c h u n g  / /  T h e  c o l o r s  a r e  f o r  i l l u s t r a t i n g  p u r p o s e s  o n l y 
C o p y r i g h t  b y  W u n d e r l i c h  G m b H  / /  w w w . w u n d e r l i c h . d e

4
Bitte schließen Sie die Beleuchtung wie auf dem beigelegten Plan an.
Please connect the lighting as in the enclosed plan.

Prüfen Sie die Funktion vor Fahrtbeginn.
Check the function before driving.

!

Schraube entfällt bei 38981-500
Screw not needed at 38981-500!

10 11

12 13


